

FDA, MHRA, HEALTH CANADA, TGA, CE MARK RMS-574 REV_F

RHINOMED

RHINOSWAB JUNIOR SAMPLES FOR EVALUATION

RHINOSWAB



RHINOSWAE

en l

REF :

Available

only as

samples



MANUFACTURER NUMBER: EN-JRSB01UN-M

GTIN: 9349392000894

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Sterile Pouch, Moustache

UNIT OF MEASURE: 1 swab

MANUFACTURER NUMBER: EN-JRSB01UN-L

GTIN: 9349392000900

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Sterile Pouch, Lips

UNIT OF MEASURE: 1 swab

Available samples R H I N O S W AB URL OF COMPANY W I N O S W



MANUFACTURER NUMBER: EN-JRSB01UN-K

GTIN: 9349392000917

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Sterile Pouch, Koala

UNIT OF MEASURE: 1 swab

Available samples RHINOSULUE US OWNER US OW



MANUFACTURER NUMBER: EN-JRSB01UN-E

GTIN: 9349392000924

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Sterile Pouch, Emoji

UNIT OF MEASURE: 1 swab

RHINOMED

RHINOSWAB JUNIOR PRODUCT FOR SALE







MANUFACTURER NUMBER: EN-OCJRSB01UN-M

GTIN: 19349392000891

MANUFACTURER DESCRIPTION:

Rhinoswab Junior, Outer Carton, Sterile, Moustache

UNIT OF MEASURE: 800 swabs (8 Inner Carton x 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)

MANUFACTURER NUMBER: EN-OCJRSB01UN-L

GTIN: 19349392000907

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Outer Carton, Sterile, Lips

UNIT OF MEASURE: 800 swabs (8 Inner Carton x 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)

MANUFACTURER NUMBER: EN-OCJRSB01UN-K

GTIN: 19349392000914

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Outer Carton, Sterile, Koala

UNIT OF MEASURE: 800 swabs (8 Inner Carton x 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)

MANUFACTURER NUMBER: EN-JRSB01-E

GTIN: 19349392000921

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Outer Carton, Sterile, Emoji

UNIT OF MEASURE: 800 swabs (8 Inner Carton x 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)







RMS-574 REV_F



RHINOSWAB JUNIOR PRODUCT FOR SALE



MANUFACTURER NUMBER: EN-OCJRSB01UN-V1

GTIN: 19349392000938

MANUFACTURER DESCRIPTION:

Rhinoswab Junior, Outer Carton, Sterile, 2 swabs in a bag (Moustache & Lips)

UNIT OF MEASURE: 800 swabs (8 Inner Cartons of 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)

MANUFACTURER NUMBER: EN-OCJRSB01UN-V1A

GTIN: 19349392001027

MANUFACTURER DESCRIPTION:

Rhinoswab Junior, Outer Carton, Sterile, 2 swabs in a bag (Lips & Emoji)

UNIT OF MEASURE: 800 swabs (8 Inner Cartons of 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)

MANUFACTURER NUMBER: EN-OCJRSB01UN-V1B

GTIN: 19349392001034

MANUFACTURER DESCRIPTION: Rhinoswab Junior, Outer Carton, Sterile,

2 swabs in a bag, (Moustache & Koala) UNIT OF MEASURE: 800 swabs

(8 Inner Cartons of 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)

MANUFACTURER NUMBER: EN-OCJRSB01UN-V2

GTIN: 19349392000945

MANUFACTURER DESCRIPTION:

Rhinoswab Junior, Outer Carton, Sterile, 5 swabs in a bag (2 Lips, 2 Moustache & 1 Emoji)

UNIT OF MEASURE: 800 swabs (8 Inner Carton x 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)











RMS-574 REV_F

10,000



RHINOSWAB JUNIOR PRODUCT FOR SALE



MANUFACTURER NUMBER: EN-OCJRSB01UN-V2A

GTIN: 19349392001041

MANUFACTURER DESCRIPTION:

Rhinoswab Junior, Outer Carton, Sterile, 5 swabs in a bag (2 Moustache, 2 Koala & 1 Lips)

UNIT OF MEASURE: 800 swabs (8 Inner Carton x 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)

MANUFACTURER NUMBER: EN-OCJRSB01UN-V3

GTIN: 19349392001058

MANUFACTURER DESCRIPTION:

Rhinoswab Junior, Outer Carton, Sterile, 4 varieties swabs x 200 each (Lips, Moustache, Koala & Emoji)

UNIT OF MEASURE: 800 swabs (8 Inner Carton x 100 swabs)

Minimum Order Quantity 1 Outer Carton (800 swabs)





RHINOSWAB SAMPLES FOR EVALUATION

Available only as samples	RHINOSWAB	
	HINOMED LI, 132 Grayne St, Cremorne Vir 3172, Australia sweb@chrinomed.global	- Y
	Made in China Made in China Consult instructions for use	
		l l
	REF :	-
	₽ :	9
	Patent Pending RMS-212 Rhinosmib US Pouch Label - Rev A	

MANUFACTURER NUMBER: EN-RSWB01-UN

GTIN: 9349392000887

MANUFACTURER DESCRIPTION: Rhinoswab, Sterile Pouch, Adult Swab

UNIT OF MEASURE: 1 swab

RHINOSWAB PRODUCT FOR SALE





MANUFACTURER NUMBER: EN-OCRSWB01UN

GTIN: 19349392000884

MANUFACTURER DESCRIPTION: Rhinoswab, Outer Carton, Sterile, Adult Swab (8 Inner Cartons x 100 swabs)

UNIT OF MEASURE: 800 swabs

Minimum Order Quantity 1 Outer Carton (800 swabs)

ORDER REQUEST FORM



If you would like to receive free samples for evaluation purposes or order swabs PLEASE COMPLETE THIS FORM AND EMAIL TO	FDA establishment Registration: 3011194487 Health Canada MDEL: 6789
GM North America, Rhinoswab mcurbow@rhinomed.global	
Once we receive your request form we will be in touch with pricing and delivery options.	
CONTACT DETAILS	
ORGANISATION:	
CONTACT NAME: TITLE:	

EMAIL ADDRESS: _____

SAMPLES FOR EVALUATION UP TO 100 SAMPLES (IN TOTAL) ARE AVAILABLE FREE OF CHARGE FOR EVALUATION PURPOSES

_____ PHONE NUMBER: ___

MANUFACTURER NUMBER:	MANUFACTURER DESCRIPTION:	ORDER QTY OF SAMPLES:
EN-JRSB01UN-M	Rhinoswab Junior, Sterile Pouch, Moustache	
EN-JRSB01UN-L	Rhinoswab Junior, Sterile Pouch, Lips	
EN-JRSB01UN-K	Rhinoswab Junior, Sterile Pouch, Koala	
EN-JRSB01-E	Rhinoswab Junior, Sterile Pouch, Emoji	
EN-RSWB01-UN	Rhinoswab Sterile Pouch, Adult Swab	

PRODUCT FOR SALE - OUTER CARTON MINIMUM ORDER QUANTITY 1 OUTER CARTON PER PRODUCT

MANUFACTURER NUMBER:	MANUFACTURER DESCRIPTION:	NUMBER OF SWABS PER CARTON:	ORDER QTY OF OUTER CARTONS:
EN-OCJRSB01UN-M	Rhinoswab Junior, Outer Carton, Sterile, Moustache	800	
EN-OCJRSB01UN-L	Rhinoswab Junior, Outer Carton, Sterile, Lips	800	
EN-OCJRSB01UN-K	Rhinoswab Junior, Outer Carton, Sterile, Koala	800	
EN-OCJRSB01UN-E	Rhinoswab Junior, Outer Carton, Sterile, Emoji	800	
EN-OCJRSB01UN-V1	Rhinoswab Junior, Outer Carton, Sterile, 2 mixed swabs in a bag (Moustache and Lips)	800	
EN-OCJRSB01UN-V1A	Rhinoswab Junior, Outer Carton, Sterile, 2 swabs in a bag, (Lips & Emoji)	800	
EN-OCJRSB01UN-V1B	Rhinoswab Junior, Outer Carton, Sterile, 2 swabs in a bag, (Moustache & Koala)	800	
EN-OCJRSB01UN-V2	Rhinoswab Junior, Outer Carton, Sterile, 5 swabs in a bag (2 Lips, 2 Moustache & 1 Emoji)	800	
EN-OCJRSB01UN-V2A	Rhinoswab Junior, Outer Carton, Sterile, 5 swabs in a bag, (2 Moustache, 2 Koala & 1 Lips)	800	
EN-OCJRSB01UN-V3	Rhinoswab Junior, Outer Carton, Sterile, 4 varieties swabs x 200 each (Lips, Moustache, Koala & Emoji)	800	
EN-OCRSWB01UN	Rhinoswab, Outer Carton, Sterile, Adult Swab	800	
TOTAL			